1. [3 point] Give the order, state which is the independent/dependent variable, and why the differential equation is or is

not linear:
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2. [1 point] Write a differential equation that fits the physical description: The rate of change of the mass A of salt at
time t is proportional to the square of the mass of salt present at time ¢.
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3. [3 points] Determine whether y = sin(z) + z? is a solution to the differential equation %’5’: +y = 22 + 2. Show why or

why not.
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4. [3 points] Determine whether 22 + y* = 4 is an implicit solution to dy £. Show why or why not.
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